


Determine the LIMIT for the following
function as x approaches the designated
values.
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The function is continuous at (x = 0).

5 1 1

X+5 :
x? — 25 HS(X/—/S)(X 5 —-10 10

a) lim

x—0

b) Im

X— =5

The function has a hole at (_5’_E)’ BUT the lim still exists!



OLUTIONS

fim X;‘f 5 Xi5:—oo f (4.99) = —100

The function hasa VAat x =5, BUT the lim still exists!
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The function hasa VAat x =5, BUT the lim still exists!
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Theleft side lim does not match the right side lim, .". the lim does not exist!
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